
Word Problems: 

9. Liam has 8325 marbles, and he wants to give 1579 marbles to his sister. How many marbles 
will Liam have left? 

8325 – 1579 = 6,746 marbles 

10. A school had 6987 books. They bought an additional 4275 books for the library. How many 
books does the school have now? 

6987 + 4275 = 11,262 books 

11. Fred saved up 2371 pounds to buy a bookshelf. The bookshelf costs 1346 pounds. How 
much money does Thomas have left? 

2371 – 1346 = £1,025 

12. There were 6000 apples in the store. Sarah bought 3675 apples, and John bought 1892 
apples. How many apples are left in the store? 

3675 + 1892 = 5567 

6000 – 5567 = 433 apples 


